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idfa Geapillddl Sog (AeARAl) /Rl

4 siafe AT g (TawEh) /sEd SET

e SPACE APPLICATIONS CENTRE (SAC)/ISRO A
2R AL uRAA A @ 9= ‘T’ / CATERING ATTENDANT ‘A’

1.

A, B, C2a D 3odlolii AedlRA of QAcrel sapii 241d & 5:2:4:3 ol RN, ¥ C Solotdl
1000 Azl P 3atdlat &l geiR HA 8, dl B 3ollal o Sed] HuRl

(a) 500 (b) 1500

() 2000 (@ i3 ael

A, B, C 3t D &3 & wwifeai & 5:2:4:3 & orud § sier smar 21 Al ¢ F\ & D, FEA |
1000 =dreft Ftfereh STH €T € A1 B = =i fofia =raret foeim ?

(@) 500 (b) 1500

(c) 2000 (d) =T

Chapatis are distributed among A, B, C & D canteens in the proportion of 5:2:4:3. If C Canteen
gets 1000 chapatis more than D Canteen, how much chapatis B Canteen will get

(@) 500 (b) 1500

(c) 2000 (d) None

§@ Al lotidig & 60 dl2z. £81 vial uiRllell MR ol dYoiltik & 2:1. AR JYRNTR o 1:2 54 &R Al
d¥i 32d uiell Girg usal.

(a) 20 [ce (b) 30 [l
(c) 40 [aed | (d) 60 faei

60 fiet Fat arEn § = SRl ST 21 gy S T e ® 2:1 1 A srgua 1:2 |/, sud fiem
SiTarett art W R

(@) 20@fx (b) 30 e
(c) 40 (d) 60

Total quantity of Tea prepared is 60 Litres. The ratio of milk and water is 2:1. If the ratio is to be
1:2 then the quality of water to be further added is

(a) 20 litres (b) 30 litres
(¢) 40 litres (9)/ 60 litres
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i=Fa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
R AL Wk W @ 9fEma ‘T’ / CATERING ATTENDANT ‘A’

%,

783 (B il o 24uil UHIRPI QeI Sdloll 8., AHUHIRHI £35 o S2dl Al HR]?

(@ 271 (b) 272
(c) 261 d 262
783 forett =maet = o sre srgurdt § fernfSta e 21 v srgura o) Rea wen i =rae fiehi?
@@ 271 (b) 272
() 261 d 262

783 kg of rice is to be divided in three equal proportions . How much quantity of rice each

proportions will get?
@ 271 (b)) 272
() 261 (d) 262

ol 2Ardofl 2N MeN 30 Mdllz &l 45 Mdlle.

(@ 32 (b) 2:4
() 13 (d) 2:3
Frfafiaa s svgurd gar @mse - 30 fime @ 45 fime

@@ 32 (b) 2:4
() 13 (d 2:3
Find the ratio of the following 30 minutes to 45 minutes?
(@ 32 (b) 24

(c) 1:3 (d 23

L} PC-13/2019




Fud

2idRel Geapillddl Sog (NRiARM) /eoR

-4,,_ | stafe w7 (TaeE?) /s | SET

7o SPACE APPLICATIONS CENTRE (SAC)/ISRO A
w2 AL Wk N/ @rear 9R= ‘@’ / CATERING ATTENDANT ‘A’

As ARl URPIA & 326 A 2ial doigf @ 98 3], Al A Asisa ofl uslong 3adll 82

(a) b=70cma=7380cmsq (b) b=50cma=5520 cm sq
(c) b=65cma=6370cmsq (d) b=95cma=9426 cm sq
Uk 3 i aie 326 Feft 2 afit awens 98 Al B 1 Sweht werd 3 e @

(@) b=70cma=7380cmsq (b) b=50cma=5520 cm sq
(c) b=65cma=6370cmsq (d) b=95cma=9426 cm sq
The perimeter of a rectangle is 326 cm and its length is 98 cm. What is its breadth and area?
(@ b=70cma=7380cm sq (b) b=50cma=5520 cm sq
(c) -b=65cma=6370cm sq d b =95 cm a= 9426 cm sq

AoRARA AISR ol dRRofl dallgf 25 ] 240l valong 17 M & dal 59 AR ISR AUGR] AHIAD.
dl McAs Vilie] HIY 2f 6217

(@ 21 (b) 24

) 18d (d 20

U AFATehI, AT 3 orrg 25 Bt 3 =ters 17 Tt 2 o 30 : aniferr & Hier | 3ush Tedsh uat i

HIG 1 g7
(a) 219 (b) 24 B
(c) 18@t (d) 20aH

Wire in the shape of rectangle of length 25 cm and breadth 17 ¢m is bend to form a square. What
will be the measure of each side?

(a) 2lcm (b) 24cm

() 18cm (d) 20cm
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2idlkel Geepllddl Sog (AR /Rl
.7‘,_ siafee e % (Tawdh) /e SET
guiil|i57a SPACE APPLICATIONS CENTRE (SAC)/ISRO A

2R AL Wk 2 @ 9iEd T/ CATERING ATTENDANT ‘A’

7 21 o ool ISR i B Voll A8 & 9 Mer. dofl AR cligell doilg F ciidl o A & d Bedl 621?
(a) 34 metre (b) 36 metre
(¢) 32 metre (d) 45 metre

5y sl i) 2 Foreshr wh ver 9 iex B | wfiE 3 < S R e o erg 2

(a) 347 (b) 36+

(c) 32X (d) 45

Tim’s garden is shaped like a square whose side is 9 metres. What is the length of the fence
which surrounds the garden?

(a) 34 metre (b) 36 metre

(¢) 32 metre (d) 45 metre

8. Aol dl ooy & 330, 4 3, 5 M 2202, dl A 245 &2

(a) 9sqcm (b) 7sqcm
(c) 8sqcm (d) 6sgqcm

e 10T % i 7& 2 %0 3 cm, 4 cm, S cm @, A 38T & 8

(a) 9sqem (b) 7sqcm
(c) 8sqcm (d) 6sqcm
The three side of a triangle are 3 cm, 4 cm, 5 cm respectively, then its area is
(a) 9sqcm (b) 7sqcm

(c) 8sqcm (d) 6sqcm
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isFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
WER AL R ) @Y 9Ed ¢’/ CATERING ATTENDANT ‘A’

10.

As eleddl Aoiioll dss 8 20 e diofl, 15 Hlez valdfl 210 5 Hle: GIRA, deil 2ieall o2l o

% Uil ol ot &l gisdio] 2821. 3,60 1A g2 ofl il BlCl. R0 Vil B2ell 197

(@)  Rs. 64000 | (b) Rs. 57000

(c) Rs. 52000 (d) Rs. 45000

U TR Bt o orard 20 et R, 15 et el 3R 5 et S @ 30 36 31720 & Wi 1 92718 8 AT 2
Ifd 5@ Rs. 60 ufd & Hiet @ @t & @i a0 gmm?

(a)  Rs. 64000 (b) Rs. 57000

(c)  Rs. 52000 (d) Rs. 45000

A restaurant hall is 20 metre long, 15 metre wide and 5 metre higil{i its&_[i_gri has to _l_)e c_oyer_e_c{_
with mat. What will be the total expenditure, if it cost Rs. 60 per square metre?

(a)  Rs. 64000 MS. 57000

(¢)  Rs. 52000 (d) Rs. 45000

As 93l ol & [Aeidl A ol B SABI 1A B, i 36 Vial 44 Qe[ 22isA 8. ¥ AR A of
4ot 40 [5dl 121 2ol B of dxat 35 (5 81, ol 2iyel gdief 243201 doyal 2MNEN?

(a)  30.00 kg (b) 35.00 kg

(c) 37.25kg (d) 4250 kg

Uk hedl o &l famr A 3R B 2, o swmwn: 36 3fit 44 o 81 afe fonm A w1 sftaa as 40 R R ek
o B &1 s 35 foh.n. 2, gt sheqt k1 shtad ast @ -

(a)  30.00 kg (b) 35.00 kg
(¢) .. 3125 kg (d) 42.50kg

There are two sections A and B of a class, consisting of 36 and 44 students respectively. If the

average weight of section A is 40 kg and that of section B is 35kg, find the average weight of the
whole class?

(a)  30.00 kg (b) 35.00 kg
(c) 37.25kg (d) 42.50kg
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2idRet Geatellddl Sog (HRiAA) /iR
= siafe st 7% (vaEh) /56 SET
i5ra SPACE APPLICATIONS CENTRE (SAC)/ISRO A

IR Al WR2 W) @I giEd T’/ CATERING ATTENDANT ‘A

11.

12.

gher sl RuA 2d 87

(@) 2R4R (b) RiMHAR
()  UsUR (d) 2MQar
e s g1 T srmar?

(a) gEwidan (b) EHAR
() LR (d) eEr
Easter falls on which day?

(a)  Thursday (b) Monday
(c)  Friday (d) Sunday

£21 N 1 s B3R oll 291 B 38.9 20, N udcl © NRlofl RN B 42, Al Bell AR Wil

2322 51317
(a) 3325 (b) 33.50
() 35.00 d) 3425

mﬁﬁw%%mwm38.9ﬁﬁﬂmﬁiamazﬁa’iwm%42,a‘laﬁﬁﬂaﬂﬂa‘iw
3P T SR

(@) 3325 (b) 33.50
(c) 35.00 (d) 3425

The average score of a cricketer for ten matches is 38.9 runs. If the average for the first six

matches is 42, then find the average for the last four matches?
(a) 33.25 (b) 33.50
(c) 35.00 (d) 34.25
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idRet Geanllddl Sog (A1) /g4

1.. sfafer ST e (TawEh) /5Ed SET

teva SPACE APPLICATIONS CENTRE (SAC)/ISRO A
R Al WRad ‘W) @rar wREd ‘T’ / CATERING ATTENDANT ‘A’

13.

14.

As BledHi old FRI AHYI Ui AHiS FRIRA E35 12 3 Yldiall ¥Hdloli vl 2ial aidIRA 2432021 oid
¥Qlloll Sli 3, 8 gaR vl d Ad &1 32l 211 ofl viRIl &)1 ?

(a) Rs.115 (b) Rs. 116
(¢) Rs.118 (d) Rs.117
R =afer, @HTEM TF e MU 373 AR A, @H WIS A Rs. 12 @H fohu 31 79 =5t 3, weft 3 =xfwa
% 37tdd @9 | Rs.8 31f¥e @ o | 37 gra @ o T et @

(a Rs. 115 (b) Rs.116

(c) Rs.118 (d) Rs.117

Nine persons went to a hotel for taking their meals. Eight of them spent Rs.12 each on their meals

and the ninth spent Rs.8 more than the average expenditure of all the nine. What was the total

money spent by them?
(a) Rs. 115 (b) Rs.116
(c) Rs.118 \Ld)/ Rs. 117

20 ISl ol 2320 & Yo, A cignigd], A2l GiRlali 2l Yo Sl YER Ble A5 ?
(@ o0 (b) -1

e 1 (d) winie 23 of@

20 GEAT3T 1 N T | I A 1 A Rt o1y & srferss gm?

(@ 0 (b) -1

() 1 (d) FHIARE

The average of 20 numbers is zero. Of them, at the most, how many may be greater than zero?
(@ 0 (b) -1

(c) 1 (d) None of these
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Sialel GeapiNad! Sos (A=A /84

SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

~A-. srafier ITaTT s (TawE?) /s
=zt |isra
|

SR A M ) @Y 9iEd T/ CATERING ATTENDANT ‘A’

15.

16.

uiy V2 301 ol 30 3, Hi QR B. dl 9 %_Hi o Becll A vidle) s ?

(@ 2 (b)y 1.5
(€ 125 (d) 2.5
Ut @94l & shell Sl Rs. 30ﬁ%mwnmm.9ﬁﬁmﬁaﬁeﬂaaﬁ%?
(@ 2 () 1.5
(¢ 125 d 25

Five boxes of bananas sell for Rs. 30. How many boxes can you buy for Rs. 97

(@ 2 (b) 1.5

) 125 d 25

oiRdofll 2R ¥ B

@ @9 b) 32

(¢ seos| (d) Guwiiel i3 ol
TE &1 TP A

(a) Eh (b) fohehe

(c) (d) 3wl # & g T

National Game of India is
(a)  Hockey (b) Cricket

(c) Kabaddi (d) None of the above

10
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dfel Beapilladi Sog (AR /iR
safee I &7 (CHeE) /v

%ﬂdi‘.‘,ﬁ SPACE APPLICATIONS CENTRE (SAC)/ISRO

2R AL WRkad W) @reaE aREd ‘T’ / CATERING ATTENDANT A’

SET

17.

18.

(a) ool

() R seoild

Ad 219 NS s¢f 24d AsORAA B2

(b) eoid 2oofl

(d) oNes

T el form @e 4 dafed 27

(a) <fm

(c)  UgH G

(b) =M

(d) Tew

With which game does Santosh Trophy is associated?

(a) Tennis

(c)  National Football

(b) Table Tennis

d) Golf

eiiRd A4d vept 2I[Gls 8is] i Yael ues SR DI

(a) 1928 (b) 1932
(c) 1936 (d) 1948
AT 3 W SAifeAfeies gieht Tl e | Ssfar

(a) 1928 (b) 1932
(c) 1936 (d) 1948
India won its first Olympic hockey gold in

(a) 1928 (b) 1932
() 1936 (d) 1948

11
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dlRal Geapialladl Sog (ARAl) /eRI

3 Frafe I9a F+x (vEedt) /3Ed

ra SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

weR ALk N/ @ 9R=T ‘@’ / CATERING ATTENDANT ‘A’

19.

20.

FIFA 2018 o 241R01%0l su1 g2 A1 ?

(a) allFd (b) Vol
c) W (d) Slo™
FIFA 2018 fova =, forg 291 & @ man?

(a) Ssha (b) &
(c) =4 (d) w4
In which country FIFA 2018 world cup held?

(a)  Brazil (b) Spain

(c)  Russia (d) France

oflR vdcxiell 222 B¥e dIgIon Yol goll 22y A B2

(a) A6 Ags| (b) CiRd

(c) dee gosl d) Rdl
394 @ 41, foava 1 wed g 3w ke @aqaren g 27

(a)  afequn srshiem (b) wRG
() dawI<E d) R
Which of the following is the oldest test cricket playing country in the world?
(a)  South Africa (b) India
(c)  West Indies Ey Australia
12
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2idRet Gezpirllddi Sog (A=eAd]) /R
siafes I e (CEed) /s
SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

2R Al Wk 2/ @rEaE 9fEd T/ CATERING ATTENDANT ‘A’

21,

22,

u2i Rio6 ofl HEQ s¢f vl A1 A ?

24,30, 7, 60, 84, 114

(a) 22 (b)
(c) 32 (d)
T Yook oh T TR e A =niee?

24,30, 7, 60, 84, 114

(@ 22 (b)
() 32 (d)

What number should replace the question mark?

24,30,7,60, 84,114

(@ 22 (b)
(c) 32 (d)
Qe 24l S8 872

462, 683, 385, 198, 253, 781, 594

(a) 594 (b)
(c) 253 (d)
zai O foawg gem Fa-di 27

462, 683, 385, 198, 253, 781, 594

(a) 594 (b)
(c) 253 (d)
Which is the odd number out?

462, 683, 385, 198,253, 781, 594

(a) 594 \ (b)
(c) 253 (d)

13

42
52

42
h .

42
32

781
683

781
683
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viclel GeanRNad! Sog (A1) /2R
s srafuer v % (e /gEd SET
tz7E SPACE APPLICATIONS CENTRE (SAC)/ISRO A

2R AL Wk W gree 9fmd ‘T / CATERING ATTENDANT “A’

23,

24.

13 Ay ol 204 i, 4RI A3 ol ofl 21Y5ct 1R 94 621, dl ofd a4 ol 23141 d 32l 817

() 72 (b) 82
(c) 84 (d) 74
g ad i, 3R i gl ) fireftagelt 3T 94 nft) A it i e Faraef 27

(a 72 (b) 82

(c) 84 d 74

In 13 years time, the combined ages of my three brothers will be 94. What will it be in nine years
time?

(@) 72 (b) 82

(c) 84 (d 74

lofsH Hi 5¢ AvAUI AIUA?

1,4,9,16.25,36,%

(a) 49 (b) 47
(c) 52 d 59
39 J@e |, 3! T # an?

1,4,9, 16, 25,36, 2

(a) 49 (b)y 47
(c) 52 d 59
What is the next number in the sequence below?
1,4,9,16,25,36,7?

(a) 49 (b) 47
(c) 52 (d 59
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didker Geapillddl Sog (e41) /e2iRl
- TR IuA e (Taud?) /set
isra SPACE APPLICATIONS CENTRE (SAC)/ISRO

R U WR3 W) @rg af=d ‘T / CATERING ATTENDANT “A°

SET

23

s [Awy 87

(@ dled (b) s
(c)  vicl (d) &l
T ¥ fawa w-wr R?

(a) &9 (b) wFl
(€ (d 7

26.

Which is the odd one out?

() Bore ®) i@; 5

(c) Bull (d) Euck _

Blecz ofl Wl % 1993 ¥i 2ucinii 24l A Quaiid &,

@) Qo uiel (b) ot wiel

(c) 5—SUsA-sdlol d) SN3s uiel

feze 1 wie, form 1993 ¥ o wiftret 1, 38 w1 ST 3

(a)  wfies urdf (b) sttt

() FH-FAad -l (d) eierdifes el

Hitler party which came into power in 1993 is known as

(a)  Labour Party (b) Nazi Party

(¢)  Ku-Klux-Klan (d) Democratic Party
15
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2iaBel Geenilddl Sog (ReiRA) /R

/‘ st 3 5% (GRh) /50 SET
Fwi |isTa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
L PSR AL URH A @I 9REd T’/ CATERING ATTENDANT A
27.  uRReld Rsia AsRdd &

@ el

(b) SN oll Cletciiii

(© DU il didicRel ol 2i0ie) [A2)

d) Spisa

ftfefoehl o Hev @

(a) aferai @

(b)  hifare Fmfor

() < siv 3wk wataw i el

(d) Sk

Ecology deals with

(a) Birds

(b)  Cell Formation

(c)  Relation between Organisms and their Environment

(d)  Tissues
28, ZeMMaz MG HIR AWM ®

(a) eRrdlsy (b) CRRUIE

()  &d dllsic @ =0y Glsi

oriefie 1 3TN o 8 BT 1

(@) (b) =

(c) Aty dieuma (d) §gATETE

Fathometer is used to measure

(a)  Earthquakes (b) Rainfall

(¢)  Sound Intensity (d) Ocean Depth
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aRel Geapiallddl Sog (A1) /g4
siaf Iuat 5 (Taed) /sad
SPACE APPLICATIONS CENTRE (SAC)/ISRO

R AL WRuA W) @raE R=a ‘U’ / CATERING ATTENDANT ‘A’

SET

29.

30.

534 2191 Wdldig] GeulEaiHi HuiR 87

(@) W (b) el
c) selesi d) difdotg
I8 T ST, iy Ieure H Tl 31 2

(a) U (b) efmn

(c) e ‘ (d) dfierrg
The state which leads in agricultural production is

(a)  Punjab (b) Haryana
(c) Karnataka (d) Tamilnadu
ol 2axie su1 AN ggpii ggy Gaidiol glu 87

(a) dgdRidz Bred (b) 2 [Be0
(¢ Vs-fbre (d) "osl Is [(Be

fore 8 @ Fe—an e, siferan St yarfa w27
(a) oS Rl (b)

() X-fertmt (d)

T et

7T TeRtot

Which one among the following radiations carries maximum energy?

(a)  Ultraviolet Rays (b)

(¢) X-Rays (d)

17

Gamma Rays

Infra Red Rays
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didlet GeapiRlladl Sog (A1) /&R
A~ sfafer 3w ¥ (gawE) /gEd SET
@4. FE SPACE APPLICATIONS CENTRE (SAC)/ISRO A

R AL WAL W/ @ra 9f=T ‘T’ / CATERING ATTENDANT ‘A’

31, S €21 2RISR [Qailof 8.

(a) oI (b) Rk
) §9a d) oRM
e a1 fora 37— T 2

(@) ure (b) fmg
(© FH @ ==
The Country without Income Tax is

(@)  Nepal (b) Singapore

() Kuwait (d) Buma

32, SR oldioll, Foldll &RI A ¥oidll HI2, AHIY SIS 584 557
(a)  olciRiel 33l (b) R Aea
(c) MalcHi 2ligl d) e Gsa
I foha oheT, ST <l AT, ST S0 9ells SN 30 590 = o wa ¢
(a)  oEd HuSa (b) i =
(c)  weEreH M (d ==T==

Who said that the Government of the people, by the people and for the people?
(a)  Nelson Mandela (b) George Washington

(c)  Mahatma Gandhi (d) Abrabam Lincoin
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idRer Geanifladi Sog (il /g2

,1 siafe It &g (TaeH) /e SET
%ﬁﬁigr-—n SPACE APPLICATIONS CENTRE (SAC)/ISRO A
R AL NR2 ) @Y e T ) CATERING ATTENDANT ‘A’
33, ciRddll Ad by dles Misld Sl sdi
() .dea (b) 3 2 sl
) YR Y (d) ARA.AAAS.F sl
W o T Fleg wTeie 8
() T (b) . @, Figwm
(¢)  g=sh (d) TH.T=9.%.S. grfiger

34.

The first Field Marshal of India was

(a)
(c)

(a)

(c)

A. Vaidya (b) K. M. Cariappa

Sundar Ji (d) S.H.F.J. Menekshaw

ol 2icniel s¢f Rd ofel] oirdtol) alPIRS oloiy) 422

2GR Pasda Nagd) (b) d

ezl ol 22l al12IRS oloiac)) (d) ot

ﬁ:{ﬁ@,aﬁ:{—lﬂwﬁqﬁ%w%maﬁ%m?

(a)

(c)

STETE (S{fH) ST (b) SRR

ANTRFRAT-JeH (d ==

Which of the following is not a condition to become a citizen of India?

(a)
(c)

Acquiring Property (b) Descent

Naturalisation (d) Birth
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dRet Gepiallddl Sog (A1) /2R
A~ siafer i 7% (vaeh) /5 SET
it |izra SPACE APPLICATIONS CENTRE (SAC)/ISRO A

weR AL WRH% W) @rq aR=T T/ CATERING ATTENDANT ‘A’

35.  oflA AdcHiel sl €21, 2018 ol AidRZI 2l Beid Hi2 FASleR £21 A B2
(a) 2 dsi (b) ouid
() MR (d) RAoPR
e 89, FF-T1 391, 2018 1 AT AT e W EEER 39 SH-a1 27
(a)  #ficihn (b) urE
(c) it (d) waFER

Which of the following countries is the partner country at the 2018 International Gita festival?
(a)  Srilanka (b) Nepal

(c)  Mauritius (d) Mayanmar

36.  s¢ Glos ol ARIRAY(RTY), AdRA(CVC) 210l A% ofl Reiiotiall ofl A= B0 cicapi 41l &7
(@) UM ollold Aos (b) % 2idl 3 dos
() Sles 48ogl Glos () dlddid dos
fore o a1, RTIL, CVC 3Rt ferenfirert 3 & & e mn?
(a) U A o (b) SJATEFTF
(c)  hieeh Higw= % (d) Afiae T

Which bank has been brought under the purview of RTI, CVC and state legislature?
(a)  Punjab National Bank (b) J& K Bank

(c)  Kotak Mahindra Bank (d) Nainital Bank
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Safe ST 7% (TaeE) /e
SPACE APPLICATIONS CENTRE (SAC)/ISRO

ISR AL WRax A grge 9T ‘T’ / CATERING ATTENDANT ‘A’

SET

37.

19 S0z 2018 ofl, €211 A dlo¥ 3.

(a) GSLV-03/GSAT-4 (b)

(c) GSLV-FI1-GSAT 7A (d)

19 femrsr 2018 T ISRO = @i foran mam|

(a) GSLV-03/GSAT-4 (b)

(¢) GSLV-F11-GSAT 7A (d)

On 19™ December 2018, ISRO launched

(@) GSLV-03/GSAT-4 (b)

(c) GSLV-F11-GSAT 7A. (d)
e

GiRda] UBg Mloldysd AHidRel d U of olb oiclid).

38.

(a) logkl|of

(c) MIRilol

TIRA o JoH WG et fieT et A1H sdisy

(a) F=IE

(c) WA
Name India’s first Manned Space Mission

(a)
(c)

Chandrayaan

Mangalyaan

21

(b)

(d)

(b)

(d)

(b)
(d)

GSLV D-6
GSLV-F 9/GSAT-9

GSLV D-6

GSLV-F 9/GSAT-9

GSLV D-6

GSLV-F 9/GSAT-9

212]oi=dlol

USIAlol

Gaganyaan

Shukrayaan
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Isra

ddlRal Geanilldd! Sog (A1) /e
STaRe 3T &% (gaed) /ge
SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

SR Al k4% W) @Y gR=a ‘T’ / CATERING ATTENDANT ‘A’

39.

40.

piiell sy 642 of Sog o2l

(a) VSSE (b) SAC
(¢) SDSC (d) BARC
T ¥ F-71 [SRO g 7 27

(a) VSSE (b) SAC
(c) SDSC (d) BARC
Which one is not an ISRO centre?

(a)  VSSE (b) SAC
(c) SDSC (d) BARC

ISRO ofl 2i€e! 3i RLy-TD ed gj?

(a)
(b)
(©)
(d)

Aploid A2aige dlodl ABsa—2soNdID Shilofze2?
APAoid A2dige dioy ABsE—-250ldI® Ihiloize?
Adlodoid Aedige dlodl AlBsE—25adID ShilotRRe?
Guaiigll A3 ollg

ISRO & gesf #, RLV-TD &1 &1 37 27

(a)
(b)
(c)
(d)

fgivaer deeige et Aifeaer SRy S
fgdvae deetge aif el STt I
i 8 A

What does RLV-TD stands for in the context of ISRO?

(a)
(b)
(c)
(d)

Reusable Satellite Long Vehicle-Technology Demonstrator
Reusable Satellite Launch Vehicle Technology Demonstrator
Relaunchable Satellite Long Vehicle Technology Demonstrator

None of the above

¥ 5
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vidleel Geapillddl Sog (i) /€21
b siafe I F7% (TaE) /sad
isFa SPACE APPLICATIONS CENTRE (SAC)/ISRO

R AU Wk W) @rar 9= ‘T / CATERING ATTENDANT ‘A’

SET

41.

42.

ISRO & ¢Rclofl Ugcl Guas — ofolldd

(a) GRS by Rleel
(c) iroig d) Fwd
ISRO 7 9Rd %1 9o 3uTE ST

(a) WU (b) Ufedft
(c)  omiwg (d) uww

ISRO build India’s first satellite
(a)  Bhaskara (b)  Rohini

(c)  Aryabhata (d) Apple

HoS &RI We oiolldd R8s sigoR &

(a) Rl (b) 2dsle
() JdideR (d) olgdlof
T G ST T S fefoeh ther o -

(a) W (b) ¥iwie
(c)  iferIe d) 3

The first synthetic fibre made by man was

(a)  Rayon (b) Terrycot
(c)  Polyester M ylon
23
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dRel Geapirlladl Sog (A1) /g
sfafta Iuam = (vaud?) /5ed
SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

R Al W21 2/ gre 9= ‘@’ / CATERING ATTENDANT ‘A’

43.

44,

BN sRkRGol 31 all AUl GBR Al HI2 B

(a) MRS

(b) vISS

)

(d)  &rdl ol 2aR i Hofl A1l gerruld

et el Sfé o1 3gam 3g o o fore grar 2

(a) T

(by =

(c) fu

() shamm

Radio Carbon Dating is used to estimate the age of

(a) Monuments

(b)  Rocks

(¢)  Soil

(d)  Fossils

eRAUIoll oRdl val e o yasrel 8.

(a) o o disvel (b) %d ofl SRIE)

(€ 204z ofl diod] (@) o eotier vend

SIR-TeT, Held: o T 2|

(a)  =ig o sAepul (b) & & FA

(© wHAwE (d) ¥ zara o

Tides are primarily a result of the

(a)  Attraction of the moon (b) Farrel’s law

(c)  Ocean currents (d) FEarth pressure system
24
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icRel Geapizllddi Sog (ARiRA1) /g4l
/‘ srafe ST Fx (TauEh) /sEd SET
vl |izFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
R AL WRux W/ @ 9T ‘U’ / CATERING ATTENDANT €A’ '
45. asuelGagxss 9.
(a) 2Ris| (b) 9s
O ICSEL (d 2dio
A IETE U &
(a) TRl (b) =
) Afwferea (d) T
The fastest growing plant is
(a)  Ashoka (b) Banyan
(¢)  Eucalyptus (d) Rose

46.  oflA 24d Hiell sa1 wielotl Vesi eid 8l 872

(a) &Sl (b) SRIGH
(c) v (d) diel

g @ forw wioft 3 92 ¥ <fd ard 27

(a) ek (b) cheher
(c) &M@ (d) Hewi=

Which of the following animal have teeth in their stomach?
(a)  Frogs (b) Crabs

(c)  Snakes (d) Cockroach
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iBro

edRer Geanirlldadl Sog (A1) /g
siafee Iw Fx (TaH) /[
SPACE APPLICATIONS CENTRE (SAC)/ISRO

2R AL k2 W @ 9fEmd ‘T / CATERING ATTENDANT ‘A’

SET

47.

48.

%1S 1S ol Hu UlNel 1Al 8

() R0 (b)
(c) ¥doliRis €4l (d)
e e 3o dfiehar T e €
(a) wEdHE (b)
(c)  hreaTyhi @ (d)
Plants mainly receive nutrients from
(a)  Sunlight (b)
(c)  Pesticides (d)
dlal of ARYES B M2 dURIY 8.
(a) AYMGRR (b)
() C)
TR =Rl st €1 T 3T = fore g 21
()  FegfufEm (b)
() = (d)
Iron Ore is used for
(a)  Aluminium (b)
(c)  Steel @
26
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FARIRa &

Soil

Chlorophyll

aiof

RAdan

Copper

Brass
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icRal Geapilldal Sog (ARARA) /g4
Fafee IuT &% (HeHt) /s
SPACE APPLICATIONS CENTRE (SAC)/ISRO

R AL Wk A/ @rra =g ‘U’ / CATERING ATTENDANT ‘A’

SET

49.

50.

(A% ol vEARAUSI A SBYR B,

@) YPRAAD b) skelddo
© Jad» d) skedi®
SRIIUE % 37T ! Fed &

(a)  fervafomm (b) FmET-fogm
(c) Toretesh (d) sEme-fagE

Study of Universe is called

(a)  Universology (b) Cosmetology

(c) Petology (d) Cosmology
sRoAd (e .

(a) 2l dl 2Alcdlze (b) 59153 el 3l
(c) HIESI ol s15x (d) s 2ia Alcdlze
e (i) & fyor @ s 21

(a)  ToEl o7k faferehe (b) wHfew 3 firgh

(c) ekt IR THfesh (d) e 3R fafarehe

Glass 1s made of the mixture of

(a)
(c)

Sand and Silicates (b) Quartz and Sand

Mica and Quartz (d) Mica and Silicates

27
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vidRet Geapirlladl Sog (A /4
sfafe I F7% (TaeH) /3ad
SPACE APPLICATIONS CENTRE (SAC)/ISRO

R AL WRad ‘W) @ gfEd T’ / CATERING ATTENDANT ‘A”

SET

51

52,

W ot vidiRld &Rl A2sid) ASR B,
(a)  9orruld ol vidsq

(b)  2ild2rRs Bxsrsl

(c) IS Audig] SI

(@)  uellRilefl i gend)

9~ &3T <! FI Ukl ST Gkl 2

(a) STl I EeTH

(b) =R At @

(c) U

(d)  uftr it demn & sagE

Soil erosion can be prevented by

(a)
(b)
©)
(d)

Removal of Vegetation
Overgrazing
Afforestation

Increasing Bird Population

el &l ol 413 UINeI AngaRy 8.

(a) Ml (b) ol

) [@zpflot d) swollelgge

ar % 3= Hid &

(@ 9N (b)

(©) (o (d) FmEege

Pulses are good source of

(a)  Proteins (b) Fats

(¢)  Vitamins (d) Carbohydrates
28
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dRet Geapilladl Sog (A1) /g4
" Frafe AT Fex (TaeEt) /e

i5ra SPACE APPLICATIONS CENTRE (SAC)/ISRO

R AL WRuA W) @ra =g T’/ CATERING ATTENDANT ‘A

SET

53.

54.

Gi120) 314 Vial ARRA N4 ofl HuA €2s Al B2

(a)  SRoldl SRI AISANYS (b) ©Y2ol
(c) 8lEggi¥at AasIgs d 9o
s e 37 wehfoeh 4 o e Hesh HiA H 27

()  HTeA-STE- e (b) e
() TgHEHS (d) SR

What is the main component of Bio Gas and Natural Gas?
(a)  Carbondioxide (b) Butane

(c)  Hydrogen Sulphide (d) Methane

st ofl } Ad <RI A A8 Al B A viig Al AciEl S.
(a) vilIs (b) WRBY uind
(c) dgRel (d) olxolic
e werm form o fore samamm @ 3+t werr @M & forg

(@ @ (b) =afm

(c) dgE (d) ¥
Exercise is to gym as eating is to

(a) Food (b) Dieting

(c)  Fitness (d) Restaurant

29
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icRel GeapiRllddl Sog (A1) /€24
i srafer swiT F% (TawEh) /ged SET
U |i5Fa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
28R AL W2 2 gEYE gf=a T / CATERING ATTENDANT ‘A’
55. g Adse A sRalaciadAdAddqgolAoia A9 8.
(@ &R (b) ool
() Rlad d) &

T o ok i % T e Bt & 9eft e g 3 o

(a) =mm . (b) e
(c) Toag (d) =fi
Pen is fo poet as needle is 1o

(a)  Thread (b) Button

(c)  Sewing (d) Tailor

56.  viloidll ofl 2dcig ysauen A418 & A Ad et ol 2AciEl
(a) OIPA (b) RAe4d
c) opRICI (d) xifael

for weh W o foTe et @ 3t wehr @it o forg

(a) 1l % e (b) IfTE

(c) =N (d) wfgde
Secretly is to open as silently is to

(a)  Scarcely (b) Impolitely
(¢) Noisily (d) Quietly
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* FafE IENT s (CEeE) /s
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BIIR Al Wk A/ grgE 9f=T ‘U’ / CATERING ATTENDANT ‘A’

SET

37

58.

SIgl & sU HI2 ¥ dies] 8

(a) &l

()

vt wepm il o fore 6w 2 38 & it & forg
(a) =

(c) =me

Cup is to coffee as bowl is to

(a)  Dish

(¢)  Spoon

% 3d 2% I gA 8 dl sAIE Hi2 &

() Ada

) &

fora werm 1wt % ot 372 @ 56t wehm &1 & forg
(a) Tem

()

Yard is to inch as quart is to
(a)  Gallon

(©) Milk

31

(b)
(d)

(b)

(d)

(b)
(d)

(b)

(d)

(b)

(d)

(b)
(d)

2

RIS

Soup

Food

A1BoH

&Y

QOunce

Liquid
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idRet Geapzlladl Sog (A1) /&1
2 fafe 3w = (TauEt) /sad
i5Fa SPACE APPLICATIONS CENTRE (SAC)/ISRO

SET

e AL kA ) @re =T U/ CATERING ATTENDANT ‘A’

39,

60.

S| 2ACE ofl H6ied oflew oiEdl BS oefl ?

(@)  AW9dl 42l 8ls (urRid)) (b) llRa (geRl)
(c) Adi ol 8s (Sldl) (d) iAol
-1 ¥18a, Tehl Y1sal o T1Y T} SaaT?

(a)  3FeHIE (b) gt

© fea (d) wERE

Which word does not belong with the others?

(a) Parsely (b) Basil

(c) Dill (d),é' Mayonnaise

oflA 211 Hiell sl Asiel oRloR ofell?
(@)  RARRA PB: 2ie1 Yu

()  Ad Aosoi: F2u0]s

(c) @0 oI

(@ €S URY : HECL

i asH-arad dag?

() dwHE) - e

(b)  ifta fueenf - Hags

(c) <OUS -

(d)  dushur@ - HFCL

Which of the following is not correctly matched?
(a)  Cyrus Mistry: Tata Group 7

(b)  Sheryl Sandberg : Facebook

(c)  Larry Page : Google

(d)  Deepak Parekh : HFCL *

32
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idRel GeuHllddl Sog (AReAA1)/gRiRl
A~ sinfe vt % (waeeh) /s SET
FHd |izFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
2R Al WRuA W'/ @rEE 9f=T ‘T’ / CATERING ATTENDANT ‘A’
61.  ciRdall [Quaid AAEaIcHS AT 2215 AUsAAc a?ld A 8.

(a) ASENSEX (b) CRIS
(c) NIFTY (d) CSE
AT Tk e 317% 31081 ol GUTE! S-S +ff a1 SITaT 2|
(a) SENSEX (b) CRIS
(¢) NIFTY (d) CSE
The sensitive index of National Stock Exchange of India is popularly known as
(a) SENSEX (b) CRIS

_( NIFTY (d) CSE

62. R (6767 + 67) a 68 &l ciPISR saAMI A1 RUIR S2d] dell 2119 8
(@ 1 (b) 63
(c) 66 (d) 67
_CF
S (6767 + 67) F1 68 & Faifira i @ Sy g - §7 447
\
(@ 1 (b) 63 « | £9 %4
6% £ A

©) 66 d) 67 ¥ -

A
When (6767 + 67) is divided by 68, the remainder is

(@ 1¢

(c) 66

(b)y 63"

(d) 67

33
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1 stafie i % (vaeh) /56 SET
sudl|izFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
w1eR Al Wk W) @Y 9f=d ‘U’ / CATERING ATTENDANT ‘A’
63. oA 2N Hiell Slofl [Gieis dls 2401l ofl AL 52 B?
(a) Qv ol dal
(b) Mol >l
() Idl gosla il Hiel ol 0
(d)  dis il Sy ls2
e 8 0, e | 35 o ) e e 27
(a)  Tower s 3
(b)  wuEEh
(c) Tral- 3fvead qyEw & 3 Hae
(d)  AIh-| & S -Ti
The Speaker of the Lok Sabha appoints who among the following?
(@)~ Leader of Opposition
(b)  Prime Minister
(¢)  Two members of the Anglo- Indian community
(d)  Deputy Speaker of the Lok Sabha .
64.  oflA vNcHiEN glotumi Ad Frs viss ISR H[ERAal 21 2419 &7
(a) ollegler Mk, dwgR (b) [Gorien 2ilkR, ejddier
) 3aiRlikR, AR (d) SosiRailkR, vyl
fr 9, frd, fava § Seada 9gm @ & dfe w1 wd €7
(a) TSI AR - AT (b) TormsTT i - yaTR
()  herrr Afdt - Tyt d) e R - g
Which among the following is considered as the best rotk cut temple in the world?
(a)  Brihadeeswara Temple, Tanjavur (b) Lingaraja Temple, Bhubaneswar

(¢)  Kailash Temple, Ellore (d) Kandariya Temple, Khajuraho
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idRet Geapirllddl Sog (A40R]) /g4

.4__ srafee 3T Fex () /sEd SET
Wi |isFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
iR Al R W/ @ra 9= ‘0’ / CATERING ATTENDANT ‘A’
65.  odold¥ Goticis YPIfs Fal 3011 24al 3012 HiEll cligaiis] 52 dl 528 62 YE&d AR ¥ &2l
(a) 3009 (b) 3010
() 3012 (d) 3011
= FATensh quier freaht 3011 3 3012 H & 39 qTe w2 S, foh 36t 31t U 3¢ i &
(@ 3009 (b) 3010
(c) 3012 (d) 3011
The least positive integer that should be subtracted from 3011 and 3012, so that the difference in
perfect square is
(@) 3009 (b) 3010
() 3012 (d) 3011
66. s 2oid 2yl Hi edl 2l 2yai(aliofl 26120) &2

@ 4 () 5
(© 2 (d 3
Ueh e § fohaH 21 T (B 9w 27

(a 4 (b) 5
(¢ 2 d) 3

How many teaspoons in a tablespoon?
(@) 4 (b) 5

© 2 (d) 3
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SET

67.

68.

(Soot2 ofl &l of Hiats 21U gl 8.

(@) 8 (b)y 126
(c) 10€X d) 6
feat iz (WM & wie) 1 aH e 2

(@ 8= (b) 12%=
() 10%= (d 634

Standard size of dinner plate is

(a)  8inches

(c) 10 inches

(b) 12 inches

(d) 6 inches

tRid adlofl oy i ysdl FHgA.

(@) sl (b) 2P
(c) vl Hi (@ el
@i2 3 e vaT T =T T T R

(a) s (b)
(c) &M (d) =
Knife should be placed in ———— side of the plate.

(a)  Left (b) Front
(c)  Corner d) Right

36
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idfeat Geapiellaal Sog (4]) /R

1 siafe Iua e (qaTE) /gad SET
S |i5Fa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
2R Al Wk ‘) @ 9= ‘0’ / CATERING ATTENDANT ‘A’

69.  [SooRR 201 Ad M slal JlRAdpi 2419 87

(a)  &Mial ofi 32l el of

(b)  MUEHA 5201R ofl Ucefl o

(c) ¥&ial ofl ucofl ol

(d)  [ieME S2aiR ol M2l elig ol

@ o ¢ac T fohReeR! T Sirar 27

(@)  rfaferse wid

(b) A qet

() orfafrueh

(d) A5 S T

Who get served first at the Dinner table?

(a)  Guest Elder Brother

(b)  Host Wife

)  Guest Wife

(d)  Host Elder Brother

70.

ellyell G HI2 GST €2 Sl 87

@A 3% (b) 5%

(c) 8% d) 12%

I & forg GST st 27

(a) 3% (b) 5%

(c) 8% (d 12%

What is the GST rate for restaurants?

(a) 3% (b) 5%

(c) 8% (d) 12%
37
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SET

4, srafie Iuam = (TaeE?) /sad
Fwi|izFa SPACE APPLICATIONS CENTRE (SAC)/ISRO
2R Al Wk W/ @ gf=d ‘T / CATERING ATTENDANT “A’
7L Yo, yllell, Aa, Ae oll USR 8.
@) Aot & ol usR (b) Gl ofl ds otl USRI
(c)  URdl ol USR] (@ sl ol usR
A, Biafy, o, Wy EREe]
(a) MHAFIFR (b) TEF AT TFN
()  URRTH UFH (d) foss s ysR
Penne, Fusilli, Shell, Rotelle are the type of
(a)  Varieties of Green Tea (b) Varieties Wheat Bread
()  Varieties of Pasta (d) Varieties of Pizza

72, ollogoticpi MARidi ofl 218 R 24 meny sq AeRA.

(a) 9 Alod

(b) S MIRe Sl ugdl 2lgde ¥q

(c)  EA Hi g o NG 1w 2 Y 5 D

d) & €l

e 3T @ % T H Y91 3 & df 3T HATH R i ?
(a) T @i T AT AR

(b) T YR FA T Ue Y= ST 918y

(c) evauseR 3@ foh 39 faq 3y o o aret €

(d) w=Hm

The first thing you should do when you enter a food permises is
(a)  Comb your hair

(b)  Go to the toilet before starting work

(c)  Go to the office and see what you are doing that day
(d)  Wash your hands
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vidfet Geapillddl Sog (A1) /R
pe Fafe Iug g (Taedt) /sad SET
i |isFa SPACE APPLICATIONS CENTRE (SAC)/ISRO A
w12 AL Wk W @ra™ 9= ‘T’ / CATERING ATTENDANT ‘A
73, ollogol Uludiell wounii, s¢ Avs Jd & Yol ai a1 el ugdl yscll 812

74.

(a) Y8R usd uiell vividl &g (b) gdid o oflail 5

(c) U2 gAid ol GUldI 52A) d) 5edld dal ysiqal gal

WHET G & LI 9L, 81 14 o 918, B9 @ o Sgdiiq aiieh

(a) SAUHIHIHHT (b) it AT & uis

(c) TS o qifeTy =1 39T (d) wrehfask alih @ g d

Whilst in a food serving environment what is the best way to dry your hands after washing them?
(a)  Just shake excess water (b) Damp Towel

(¢)  Using paper towel (d) Let them dry naturally

s Avvj dleays A1 of &l Bu ek ugl 529 2820 el sol____
(a) oo ol €l 41cl] 213

by el al elxolal &l i ¥ai 2Aesicll 215

) dlel oflsang cig 31 A3 2dal &l ¥cEl 3518 0

(d) A8l 210l 2423 DA &l olloial e s 24251 ©

U HT% STerHE SR, e T H Tt F % e strawas 2, @il

(a) 98 AT R <@ 7 6o

(b) =, url SN @™ 6l e ST | Y9 FA T Ushel &

(c) = G o feama Tehd! & 3 STedt 31k 814 | Terid idi 8

(d) 9%, G 3 S gr @ & HeE § qEnd @

A clean waterproof dressing is required to cover a cut so that
(a) It can be seen by the manager
(b) It prevent water and food getting into the cut

(c) It stops the bleeding and helps the cut heal

(d) It prevent blood and bacteria contamination food
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afl¥el cidoli of &ls Aiddioll dui) 8. el sl ARY AR8HICHS AR & oG FeA
(@) [e2ypi glsq, 223 of) olsict 524, 618 €yl

(b) iR ¢lsd, 215 s &1 €l

(cy Ris i glsq, Mg €ld, a1 €l

d) e ¢isq, suspi ged, susid &g

ek @M oh Heh  TEATer S At 2| e @ -4 e wwrd % s ) srnh

(a) Fovy/aw i o, s e 3, g O "

(b) e d ik, diod, gy o

(c) T3, Swu o, ey et

(d) =i ¥ ik, 92 A E R, FIS F A

A food handler is about to sneeze. Which of these hygienic practices should be followed?
(a)  Sneeze into tissue, dispose of tissue, wash hands

(b)  Sneeze into sleeve, wipe it, wash hands

(¢)  Sneeze into sink, wash face, wash hands
(d)  Sneeze into hands, wipe on cloth, wash clqth

ollgeticii SR st sl A ofA 20a Hiel gf sal uedl a1 2is s2al

(@  GeR viiga,dls vigal,viwaidllal, oiis 2415 s3al, 21is 53l

(b)  Geisi 2421 ol vissqiell, uielloll i o &1& il 2043, 241 ofl Ao Avidl Guid
(© [asic «or 0 ugdi ugal 2ieal uIcR ol guigl ued)

(@ Gluiel oigi

T e, Fefafaa @ @ fras are o199 gy giu?

(a)  w@rH, Shoh, GIAMT, Tk GI% FHHT, TTF FEAT

(b) R G S B AT, WG hl AT, Ve /o0 A g

(c) uEa et oa ve a1 iiEreE S ¥ W@

(d)  3utrs |eft

Food workers should wash their hands after which of the following:

(@)  Coughing, sneezing, scratching, wiping nose, cleaning

(b)  Touching exposed body parts, handling raw animal food, handling money

()  Before putting on disposable gloves or after using the rest room
(d)  All of the above
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SERI SURS S1g &S o AURY Adi asclls usdl 8l 4l g AW R, U g ed Bl B?
(@) &S a disigdl &

(b) dERIS o AR Mk adl 62

(c) dersevidl s 8

(@ dersa el ol 9Rd &

afe foreft e ot @iE o B T 81 R ol Sen g9 T @, o an A w27

(a)  TTES I E@EA MY B

(b) Tk i wersf wfafsrn @ @i @

(c)  TTEh IAATATAS TRV Feg o &1 2

(d)  wEs = e =Ry

If a customer is experiencing shortness of breath and swelling of the face, what could be
happening?

(a)  The customer has bronchitis

(b)  The customer is having an allergic reaction

(¢)  The customer is causing a scene

(d)  The customer needs water

oflogol el el Hieall of 2Ale e g sRel 8.

(a) oGO ARPY [Redia (b) ¢govls

(c) olIsR ol ACUIGR (d) 1 YEl SwiR A AeH ¥
GTE YRT g RiaTett sHTiEt s wel et e 2

(a) T (b) Za-wife

(c) e grr S @ (d) ==

The biggest cause of Food borne illness is :

(a)  Poor Hygiene (b) Toothpick

(c)  Employee Snacking (d) Virus
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(a) e /qu /ey /qea an

(b)  wréy/qu/ge dR/HE

(c) §u/wéy/dier/ge dr

(d) T/ g /e

Correct sequence of serving food 1s

(a) Sweet/Soup/Starter/Main Course
(b)  Starter/Soup/Main Course/Sweet
(¢)  Soup/Starter/Sweet/Main Course
(d)  Soup/Starter/Main Course/Sweet

80, Notioft culSiRA A ofl UBRY FA.

@ o (b) ol 2igf
) cIyoiE @

1 safehal ohi A1 el e ,

@ @ (b) e

() M @ @&
Service persons should not wear .

(a) Bow (b) Tie

(¢)  Bracelets (d) Ring
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z (AJBIC/D/E) printed on the right hand top corner is mandatory to be written on the OMR sheet
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